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Section B (30 marks)
Answer all the questions in this section. Question 13 has a choice of section to answer.
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The diagram above shows the apparatus for the determination of the specific latent heat

of vaporisation of water.

A 1 kW immersion eater is held in a beaker of water and this, in tum, sits on the pan

of a sensitive balance, The beaker of water is first heated up from z00m temperature
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Answer all the questions in this section. Question 13 has a choice of section to answer.

11

The diagram above shows the apparatus for the determination of the specific latent heat

of vaporisation of water.

A 1 kW immersion eater is held in a beaker of water and this, in tum, sits on the pan
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isotope? Justify your enswer. 41

)
\)\:‘g\;ﬁ’::;\) Why is it neceskary to plae the sample 10 mm away-from the sensitive

KKD‘ detectar?
o 21
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